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ANNUAL EXAMINATION QUESTION PAPER -3

Section A

1. Define power set of a Set.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_eTmADeXTfUIW


2. If G={7,8} and H={5,4,2}, find  and .

Watch Video Solution

G × H H × G

3. Convert  into radian measure ?

Watch Video Solution

520∘

4. Express  in the form a + ib .

Watch Video Solution

( − 5i)( i)
1

8

5. If =  Find  ?

Watch Video Solution

nC8
nC2

nC2

https://dl.doubtnut.com/l/_jbjYy7GkZqJY
https://dl.doubtnut.com/l/_LYGqdg4eqCRx
https://dl.doubtnut.com/l/_LvcOfsicqTYt
https://dl.doubtnut.com/l/_lmX5QzmgroKW


Watch Video Solution

6. Write the  terms of the sequences whose  term is

 ?

Watch Video Solution

5th nth

an = 2n

7. Find the slope of the lines making inclination of  with

the postive direction of x-axis ?

Watch Video Solution

60∘

8. Evaluate 

Watch Video Solution

lim
x→0

[ ]?
cos x

π − x

https://dl.doubtnut.com/l/_lmX5QzmgroKW
https://dl.doubtnut.com/l/_62pLThd2SrKl
https://dl.doubtnut.com/l/_BuvLGor1atgh
https://dl.doubtnut.com/l/_pvjKfZSoF9JM


Section B

9. Write the contrapostive , If a triangle is equilateral then

it is isosceles ?

Watch Video Solution

10. If two coin are tossed once . Find a sample space ?

Watch Video Solution

1. Given A = is solution of 

} find  ?

Watch Video Solution

{2, 3}, B = {x : x

x2 + 5x + 6 = 0 A ∪ B

https://dl.doubtnut.com/l/_KhnStOt0d4ni
https://dl.doubtnut.com/l/_bYKzvyAXDEzv
https://dl.doubtnut.com/l/_2x1mNkk8BI7v


2. Ilf A and B are two sets such that  has 50 elements,

A has 28 elements and B has 32 elements, how many

elements does  have?

Watch Video Solution

A ∪ B

A ∩ B

3. If `( x+ 1,y -2) =(3,1) Find the values of x and y .

Watch Video Solution

4. Find the radius of the circle in which a central angle of

 intercepts an arc of length 37.4 cm (use )

Watch Video Solution

60∘ π =
22

7

https://dl.doubtnut.com/l/_2x1mNkk8BI7v
https://dl.doubtnut.com/l/_czEkXxKKwFYL
https://dl.doubtnut.com/l/_2vKU1YsyQnhM
https://dl.doubtnut.com/l/_CAqExG7RNGfW


5. Find the value of .

Watch Video Solution

sin 75∘

6. If , prove that 

Watch Video Solution

x + iy =
a + ib

a − ib
x2 + y2 = 1

7. Solve  and represent the

solution graphically on number line ?

Watch Video Solution

5x + 1 > ( − 24), 5x − 1 < 24

https://dl.doubtnut.com/l/_CAqExG7RNGfW
https://dl.doubtnut.com/l/_kkuiATt6hRJQ
https://dl.doubtnut.com/l/_khFiR70WgiXq
https://dl.doubtnut.com/l/_YX8QjabNLTlq


8. Derive the formula to find the angle between two lines

with slopes 

Watch Video Solution

m1 and m2

9. Find the equation of the line passing through the

points(-1,1) and (2,-4) ?

Watch Video Solution

10. Find the equation of the set of points which are

equidistant from the points (1,2,3) and (3,2,-1) ?

Watch Video Solution

https://dl.doubtnut.com/l/_DnNkipf5pX74
https://dl.doubtnut.com/l/_TS1OVYWwXytx
https://dl.doubtnut.com/l/_dlZz4Rv55IEu
https://dl.doubtnut.com/l/_rOfbEvwccpsB


11. Evaluate  ?

Watch Video Solution

lim
x→0

( )
1 − cos x

x

12. Construct the truth table of  ?

Watch Video Solution

p ∧ q

13. Write the mean of the given data : 6,7,10,12,13,4,8,12 ?

Watch Video Solution

14. Given P(A)  . Find P(A or B), if A &

B are mutually exclusive events.

= and P (B) =
3

5

1

5

https://dl.doubtnut.com/l/_rOfbEvwccpsB
https://dl.doubtnut.com/l/_fNQ6vKWvtob2
https://dl.doubtnut.com/l/_kFHMV8zZ3Lh5
https://dl.doubtnut.com/l/_M7clOCkyDbjv


Section C

Watch Video Solution

1. In a survey it was found that 21 people liked porduct A, 26

liked product B and 29 liked product C. If 14 people liked

product A and B , 12 people like products C and A, 14 people

liked products B and C and 8 liked all the three products.

Find how many liked product C only.

Watch Video Solution

2. Let A= {1,2,3}, B={3,4} and C={4,5,6} find

 ?(A × B) ∩ (A × C)

https://dl.doubtnut.com/l/_M7clOCkyDbjv
https://dl.doubtnut.com/l/_DObr64T6Ijnl
https://dl.doubtnut.com/l/_36XyjG35mtyo


Watch Video Solution

3. Two trees ,A and B are on the same side of a river . From

a points C in the river the distance of the trees A and B is

250m and 300m respectively. If the angle C is  . Find the

distance of the trees?

Watch Video Solution

45∘

4. Express  in polar form

Watch Video Solution

1 + i√3

5. Solve the quadratic equation  ?x2 + x + = 0
1

√2

https://dl.doubtnut.com/l/_36XyjG35mtyo
https://dl.doubtnut.com/l/_8MeA6QyhxrcH
https://dl.doubtnut.com/l/_uzwgRWWcMLyh
https://dl.doubtnut.com/l/_BpsWMGsRt8iY


View Text Solution

6. In how many ways can 5 girls and 3 boys be selected in a

row so that no two boys are together ?

Watch Video Solution

7. Find the  term in the expansion of 

?

Watch Video Solution

13th

(9x − )

18

: x ≠ 0
1

3√x

8. Find the  and  term of the G.P.  ……..?

Watch Video Solution

20th nth , , )
5

2

5

4

5

8

https://dl.doubtnut.com/l/_BpsWMGsRt8iY
https://dl.doubtnut.com/l/_0P6665dpnQCP
https://dl.doubtnut.com/l/_zcLWu606uAwd
https://dl.doubtnut.com/l/_qJXwYUpXplur


9. Find the  term of the series 

 terms ?

Watch Video Solution

20th

2 × 4 + 4 × 6 + 6 × 8 + ………nth

10. Find the coordinates of foci, the vertices length of major

axes of the ellipse  ?

Watch Video Solution

+ = 1
x2

25

y2

9

11. Find the derivative of (tanx) w.r.t x from first principal

method ?

Watch Video Solution

https://dl.doubtnut.com/l/_qJXwYUpXplur
https://dl.doubtnut.com/l/_1XgGtAfTDOFP
https://dl.doubtnut.com/l/_59HVWXksup4D
https://dl.doubtnut.com/l/_FiblZXtvOuHG


12. Write the statement in three different ways conveying

the same meaning "If a triangle is equiangular then it is an

obtuse angled triangle "?

Watch Video Solution

13. A coin is tossed twice.What is the probability that

atleast one tail occurs?

Watch Video Solution

14. Three are 4 men and 6 women in a city council.If one

council member is selected for a committee at random how

https://dl.doubtnut.com/l/_FiblZXtvOuHG
https://dl.doubtnut.com/l/_LXBkD1CeBZ8B
https://dl.doubtnut.com/l/_BKBMtbhCNRR8
https://dl.doubtnut.com/l/_qr0QwUM7HTkO


Section D

likely is it that it is women ?

Watch Video Solution

1. Draw the graph of the function  and write its

domain and range ?

Watch Video Solution

F (x) = x2

2. Prove that  ?

Watch Video Solution

cos2 2x − cos2 6x = sin4x. sin 8x

https://dl.doubtnut.com/l/_qr0QwUM7HTkO
https://dl.doubtnut.com/l/_dvwHmCn2KM0x
https://dl.doubtnut.com/l/_V5wTw8gSEk67
https://dl.doubtnut.com/l/_qvJQXz0dpj8E


3. 

Watch Video Solution

12 + 22 + 32 + ............ + n2 = ∀n ∈ N.
n(n + 1)(2n + 1)

6

4. Solve graphically 

Watch Video Solution

2x + y ≥ 6, 3x + 4y ≤ 12

5. In an examination , a question paper consists of 12

question divided into two parts, Part I and Part II

containing 5 and 7 questions , respectively . A student is

required to attempt 8 questions in all selecting atleast 3

from each part . In how many ways can a student select the

questions ?

https://dl.doubtnut.com/l/_qvJQXz0dpj8E
https://dl.doubtnut.com/l/_FQtnphXF6c0T
https://dl.doubtnut.com/l/_16yoo2dkOKak


Watch Video Solution

6. State and prove Bionomial theorem for any positive

integer n.

Watch Video Solution

7. Derive the section formula for the internal division in

three dimensions.

Watch Video Solution

8. Prove that  ( x being measured in

radians )

Lim
x→0

= 1
sinx

x

https://dl.doubtnut.com/l/_16yoo2dkOKak
https://dl.doubtnut.com/l/_GKJdaBd5Dy0l
https://dl.doubtnut.com/l/_VuY0iWh0lR0d
https://dl.doubtnut.com/l/_mewHvwaMWkIo


Section E

Watch Video Solution

9. Find the mean deviation about the mean for following

data: 

Watch Video Solution

1. Prove Geometrically

 and hence provecos(x + y) = cos x, cos y − sinx. siny

https://dl.doubtnut.com/l/_mewHvwaMWkIo
https://dl.doubtnut.com/l/_8cYFLjs7PZbj
https://dl.doubtnut.com/l/_9ZNdJrb33zcI


that using unit circle

concept ?

Watch Video Solution

cos(x − y) = cos x cos y + sinx siny

2. Find the sum of the n terms to the series

 ?

Watch Video Solution

52 + 62 + 72 + ...... + 202

3. Derive the equation of the ellipse in the form

.

Watch Video Solution

+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_9ZNdJrb33zcI
https://dl.doubtnut.com/l/_ZpSRWWfDNaTr
https://dl.doubtnut.com/l/_CKGj812UzU82


4. Find the derivative of  with respect to x

Watch Video Solution

x + cos x

tanx

https://dl.doubtnut.com/l/_WtdFxn5kqvXH

